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ARSI N EoEELD)

NO, 7 + 5.0 {38 ~ NOQ. 8§ + 18.5 fhfT = 37.6

NO. 7 + 5.0 ff¥f ~ NO. 8 + 10.3 fhir H 33.0

NO. 9 + 6.0 fHir ~ NOQ. 11 fshifr = 38.6

NO. 8 +19.5 ff#f ~ NO. 10 + 5.1 ¥ = 33.4

NO. 10 + 9.4 ffi¥f ~ NO. 11 i " 13.6

i 156.2
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HEHRT | HE T @B ISR ¢ 65 m 77.2
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H & fir @& E R (R 1
NO. 7 + 5.0 ffi#f ~ NO. 8 + 117 fhif i 1.0
NO. 9 +14.6 ff#f ~ NO. 11 (NP i 3.0
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BFr: Fgx—g— (A/—B—VEAR BEEAR) Bl
B R A E & (R 1
NO. 7 + 5.0 fHFf ~ NO.. 8 + 5.5 i ¥ i) 1.0
NO. 9 + 9.1 fHF ~ NO. 10+ 1.7 fHiE H 2.0
NO. 10 + 15.3 {38 ~ NO. 11 3T A 1.0
4.0
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£ HE A7 (BUEITE) HIEH ¢ 65 E
il FEy fir & E B (m) i}
NO. 7 + 5.0 fif ~ NO. 10 + 16.4 & — 71.4
NO. 10 + 4.7 fHE ~ NO. 10 + 10.6 fI:& - 5.8
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e WEEAALT (BRBEITH) H0ER 465 &
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NO. 9 + 0.4 ffiT ~ NO. 10+ 4.7 ik - 25.9
NO. 10 + 10.6 i ~ NO. 11 it - 9.2
& 35.1
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L3 R EN: il
in N fEA A m® 69.1 70
L3 BRI T
R (A me 51.3 50
L3 AmmT
V538 w0 m’ 157.7 160
L2 L 2.3-11
L3 Bt aE T
Booz)—h | 207)—1(18-8-40BB) t=10cm | m? 51.3 50
L2 Hek A T 2.3-12
L3 T
B HSEA | B400XH600 m 60.6 61
B400 X H700 m 2.0 2
B400 X H800 m 2.0 2
B400 X H900 m 4.4 4
B400 X H1000 m 8.0 8
B400 X H1100 m 2.0 2
B400 X H1200 m 0.9 i
eravry—h m® 0.2 1
HEWAL L —Fr | B4OOBLE R RERE) ST 5.0 5
L3 KT
BT HUT B300 m 22.0 22
2L D13 L1200 PN 32.0 32
ToyZHHERE | 03-RM-A4 m 15.0 15
TR iAGE B300~B600 XL6E00 t=3.2mm He 37.0 37
APN—r HAiaRE D10 =, 1.0 1
LiFEdE 30X 30 m 2.4 2
50 X 50 m 18.9 19
L3 HIET
Wiy r = b Ak ¢ 300 m 9.5 10
¢ 400 m 29.5 30
L3 Eok T
H okt M1 B600XL600XHI1200 B 1.0 1
L3 fE¥+T
FRHRY e m® 54.3 50
MEL B R R LT m® 18.3 20
FRIRY THIE TG mEl E2mafRin m® 66.8 70
MEL B RBEBImE_F4mki m® 51.1 50
FRIEYD TN m 71.5 70
HEL AN m® 43.2 40
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R 330 O 1y R K BEf7) S SORE | 3R L) T AR
L2 | WhEwiET 2.3-41
L3 W& Bl T

st H—R17 m 16.5 17
H—Fr— m 17.0 17
apy-EERIEL | (1S m’ 52.2 52
({E17) m® 4.9 5
Gy () t 130.5 131
ALy (AT ) t 11.5 12
SRR BT BOBETA77 M MEERE t=5cm(EERE) | m 12.4 12
ShIShERE R BOETAT7 VMR t=5em(EEE) | n? 555.9 560
: TR7 7 ERGE R m 27.8 28
T AT 7V hagilGy t 63.9 64
Lo | #B\ET 2.3-49
L3 T oy JiRE AT
oy i H=1.0m m 5.7 6
1.3 BRI - SR T
RER 3 2.0 2
L1 |&hZE
Lo | AT 2.3-54
L3 BOEEREET
BEEREECARRR)
e DERET A2 (20FH)®KE 18 t=5em| p? 445.0 445
e AR HLEE AR A (M-40) t=12cm m? 445.0 445
TEkaz TRZPAIBAI Ty r—FLAARC-40) 1=12em | P 445.0 445
L2 REfRT 2.3-57
L3 [N
ERECEER | MU B3R W=1bem m 114.9 110
Pt iR(ER) BER W=15em m 56.6 57
R B W=30cm m 7.8 8
L2 1E BT B EER T 2.3-61
L3 HEERT
WAL EHTHICEN | 65 m 92.4 92
L2 B T 2.3-63
L3 {RAKBEL
WA L4 (A5 ¢ 600 m 26.0 26
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. 410 o= 300 %700 860 700 70 540 740
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A2 0540 + 0.15 X 100 X 2 = 0.84

i Al+A2 = 0.75 + 084 = 159 1.6 |m?®

2.3-15




R MREWAIL—F7 BmAERANEBL00H (FEH  BlE )

] A hr & L& (@R

NO. 0 + 10.0 {4 i 1.0

NO. 0 +16.0 fhFE H 1.0

NO. 1 f+ik = 1.0

NO. 1 + 16,0 H 1.0

NO. 2 {43 pasi 1.0
5 5.0

2.3-16




4 B WEERISL—F
B B A B B400 A (ByE H B E R &)

FEE s=1:10 R/ =Hy s —HEYE
rss /'ﬁ'ﬁaa‘ ; . TS
P _m B i st ;_sns o a0 se unssese|
AP Y 24— (554000 T / / | A /Kstnnnu z | Ti T ‘ T |
RIBESKTxd N ‘ | |
J0R— ) e 3-E "gi i
h LA [ i o L‘J 1 = r"'“
Al : ‘ 123,525 5545 } 8.
X g8 |= 5 g = | : ; |
swisk i ﬂl Lk R B - [ rB13 | 1 o =
o vir | 3
RB13-434L “I L L, b i ) : o l..,‘:
S ETU=t m o st ;23—. —= &
| L w7 ! '
‘AL L ) 65 I 4@130:780
Lo 20 70 3
WREEE s=1:10
92
980
466 -
A 3_5 iﬁ, .
| T #‘. /smns
i ! J..n-
(i [’T'I'I'ITWI’I'HTK ljﬂ e
] /Jl \\z/ has— H
i a2 RBI3 B
ERFRREEME  s-1:5 ARPEEHAE s=1:5 BAREEMIE s=1:5 CHRM s=1:5
2 5
928

+0
FBESx6x30L -1

1T PLESXE0%6
x60x
. SGPI5A-470L
e i il o 10 W RB1 304841
| FEdS %
- 0 [ SR - .
w6 N\ | w ol ‘ i
I N !l‘ﬂ = -
£

w
I = e
I = = | |
19x26 4
& 8 u'a|
A/ =huk—/
141 RB13 / 1'
*EFH 1
KP25x40x3. 2
40, q 942

L23, 5x58. 5x4. 5
L

FB32x4. §x20L

ATYFRA—L@

LI F575)

1. B R5LM6 5—4§4 E &

2, BitEH T—25 @EEFE¥I = 0.1 GR1 22 6kg
RFYGR—CHA GR2 21. Okg

3. mEME SL—Foy - BEAvF (HDZ55) B 27. 4kg
=2 #o- - ERAVFE Al =hyi— 4. 2kg
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BB 18-8-25 V1= 0.70 X 0.150 0.11
22— Vo= 0.55 X 1.050 = 0.58

V3= 0.36 X 0.600 = 0.22

V4= 0.30 X 5190 = 1.56
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70y HikEE 03-RM-A4

%I_ oo sy— b (18-8-25)
2 HPARTE, BT oo 1B sLETS,
=z B ] hi | Bl | B2 |t | b2 | A1l | A
?’3 ] (mm) | () | {mm) | (mm) | (om) | (mm) | (m2) | {(m2)
o100 | 160 2001 510 | 610 0100 .9.12
B2
B b (10-8-25) A2
BMlLazd b {10-8-25)
i hilll W HOoH K $ B BAr
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